|. Use the array to complete the numher sentences:

1 6666664¢ x

1 6666664 y

666666 ¢

6666664 -

000000 +

2. What is 4 lots of 47

3. Compare this numhber sentence using <,

3x8 () 3xy

4. Solve:

5 x 2 x 4 =

5. Complete the calculation.: T
|

w| w| o

>

or =

6 XY=

6 X H0 =

6. Solve the related calculations:

There are Y jars of sweets.

Each jar has 23 sweets.

T O

Sweeds Sweets Sweets

How many sweets are there alfogether?

your workings >

X
sweets
8. Work out 37 x 5.
Use this space to show
9. Explain the mistake: H T o
2




